
the notice

enjoy your build!



screws set
here what you’ll find in your package

washer m3x8
countersunk

m3x12
countersunk

standoff
21mm

m3x16
countersunk

standoff
28mm

m3x10
button head

pressnut



pressnuts
install them before making your assembly

use a big screw to insert the pressnuts one by one



geometry
it is advisable to mount the hook in truex

true x

true x

squished

rotate your arms to find the good placement



m3x16
countersunk

countersunk
holes must be this side

washer

m3x12
countersunk

21mm
standoff

bottom view
arm assembly

countersunk
holes must be this side



top view
front & rear standoffs

28mm
standoff

21mm
standoff

m3x8
countersunk

m3x8
countersunk



camplates
choose the good orientation
depending on the size of your camera,

22mm width
mini cam size

20mm width
dji & micro cam size



top view
pigtail & top plate

m3x10
gold button head

m3x8
countersunk

pigtail
antenna printed mount

m3x8
countersunk



optionnal
printed parts

bumper

condo  mount

vista kit
print 3d & m2 screws

immortal-t mount

arm protection


